

# County Distribution Detail Report through 01/05/2023

#### Aurora

**Reporting Period** 

**Telecom Lines** 

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$0.78	\$-0.78	0.70	\$-0.55
11/2022	907	2,029	16	2,952	\$3,690.00	\$88.52	\$3,601.48	0.70	\$2,521.04
12/2022	35	0	0	35	\$43.75	\$0.88	\$42.87	0.70	\$30.01
							Entity Tota	al:	\$2,550.50
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,550.50
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$62.60	\$-62.60	0.70	\$-43.82
11/2022	3,070	10,973	394	14,437	\$18,046.25	\$380.51	\$17,665.74	0.70	\$12,366.02
12/2022	298	0	0	298	\$372.50	\$7.45	\$365.05	0.70	\$255.54
							Entity Tota	al:	\$12,577.74
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,577.74
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	848	1,275	7	2,130	\$2,662.50	\$60.24	\$2,602.26	0.70	\$1,821.58
							Entity Tota	al:	\$1,821.58
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,821.58
Bon Homme									

Surcharge

Admin Fee

Net Surcharge

**Entity Amount** 

Entity

Percent

VOIP

Lines

**Total Lines** 

Wireless Lines

10/2022	0	0	0	0	\$0.00	\$0.03	\$-0.03	0.70	\$-0.02
11/2022	1,576	4,239	87	5,902	\$7,377.50	\$150.19	\$7,227.31	0.70	\$5,059.12
12/2022	22	0	0	22	\$27.50	\$0.55	\$26.95	0.70	\$18.87
							Entity <sup>-</sup>	Entity Total:	
							Adjust	ment:	\$0.00
							Total A	mount:	\$5,077.97

# Brookings

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$3.30	\$-3.30	0.70	\$-2.31
11/2022	10,151	22,569	225	32,945	\$41,181.25	\$855.17	\$40,326.08	0.70	\$28,228.26
12/2022	0	1	0	1	\$1.25	\$0.24	\$1.01	0.70	\$0.71
							Entity Tot	al:	\$28,226.66
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$28,226.66

# Brown

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$83.00	\$-83.00	0.70	\$-58.10
11/2022	7,764	27,654	969	36,387	\$45,483.75	\$993.30	\$44,490.45	0.70	\$31,143.32
12/2022	0	4	0	4	\$5.00	\$0.97	\$4.03	0.70	\$2.82
							Entity Tota Adjustmer		\$31,088.04 \$0.00
							Total Amo		\$31,088.04

### Brule

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$3.62	\$-3.62	0.70	\$-2.53
11/2022	2,150	3,881	53	6,084	\$7,605.00	\$153.45	\$7,451.55	0.70	\$5,216.09

Entity Total:	\$5,213.56
Linuty rotal.	φ <b>J</b> , <b>Z</b> 13.30

Adjustment: \$0.00

Total Amount: \$5,213.56

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	521	507	2	1,030	\$1,287.50	\$26.94	\$1,260.56	0.70	\$882.39
							Entity Tota	l:	\$882.39
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$882.39

### Butte

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$14.59	\$-14.59	0.70	\$-10.21
11/2022	2,020	6,900	89	9,009	\$11,261.25	\$240.36	\$11,020.89	0.70	\$7,714.62
							Entity Tota	al:	\$7,704.41
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$7,704.41

# Campbell

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	600	1,379	19	1,998	\$2,497.50	\$51.62	\$2,445.88	0.70	\$1,712.12
							Entity Tota	ıl:	\$1,712.12
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$1,712.12

# **Charles Mix**

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	2,304	5,688	22	8,014	\$10,017.50	\$203.04	\$9,814.46	0.70	\$6,870.12
12/2022	1	4	0	5	\$6.25	\$1.00	\$5.25	0.70	\$3.68
							Entity Tota	l:	\$6,873.80
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$6,873.80
City of Box Elder, Me	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$2.93	\$-2.93	0.70	\$-2.05

11/2022	36	3,042	102	3,180	\$3,975.00	\$82.32	\$3,892.68	0.70	\$2,724.88
							Entity Total:		\$2,722.83
							Adjustment:		\$0.00
							Total Amount	:	\$2,722.83
City of North Sigur Cit	v llni								

#### City of North Sioux City, Uni

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$1.91	\$-1.91	0.70	\$-1.34
11/2022	555	3,074	127	3,756	\$4,695.00	\$114.04	\$4,580.96	0.70	\$3,206.67
							Entity Tota	al:	\$3,205.33
							Adjustmer	nt:	\$0.00
							Total Amo	ount:	\$3,205.33

# City of Pierre, Hughes Co.

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$29.86	\$-29.86	0.70	\$-20.90
11/2022	2,961	11,652	195	14,808	\$18,510.00	\$380.32	\$18,129.68	0.70	\$12,690.78
							Entity Tota		\$12,669.88
							Adjustmer	11:	\$0.00
							Total Amo	unt:	\$12,669.88

# City of Sioux Falls, Lincoln (

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
10/2022	0	0	0	0	\$0.00	\$98.61	\$-98.61	0.70	\$-69.03	
11/2022	3,212	28,794	3,994	36,000	\$45,000.00	\$937.91	\$44,062.09	0.70	\$30,843.46	
							Entity Total	:	\$30,774.43	
							Adjustment	:	\$0.00	
							Total Amou	nt:	\$30,774.43	
Clark										
Poporting Poriod	Tolocom Linos	Wiroloss Linos	VOIR	Total Lines	Surchargo	Admin Eoo	Not Surchargo	Entity	Entity Amount	

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$0.40	\$-0.40	0.70	\$-0.28
11/2022	1,087	2,492	55	3,634	\$4,542.50	\$102.16	\$4,440.34	0.70	\$3,108.24

							Entity Tota	al:	\$3,107.96
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,107.96
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$33.11	\$-33.11	0.70	\$-23.18
11/2022	1,301	7,871	240	9,412	\$11,765.00	\$264.81	\$11,500.19	0.70	\$8,050.13
							Entity Tota	al:	\$8,026.95
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$8,026.95
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$77.81	\$-77.81	0.70	\$-54.47
11/2022	5,923	20,438	1,093	27,454	\$34,317.50	\$736.00	\$33,581.50	0.70	\$23,507.05
							Entity Tota	al:	\$23,452.58
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$23,452.58
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$5.30	\$-5.30	0.70	\$-3.71
11/2022	903	960	357	2,220	\$2,775.00	\$57.90	\$2,717.10	0.70	\$1,901.97
12/2022	0	1	0	1	\$1.25	\$0.24	\$1.01	0.70	\$0.71
							Entity Tota	al:	\$1,898.97
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,898.97
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Reporting Period	Telecom Lines	Wireless Lines	Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Percent	Entity Amount	
10/2022	0	0	0	0	\$0.00	\$0.60	\$-0.60	0.70	\$-0.42	
11/2022	2,879	6,478	56	9,413	\$11,766.25	\$264.83	\$11,501.42	0.70	\$8,050.99	

12/2022	0	1	0	1	\$1.25	\$0.24	\$1.01	0.70	\$0.71
							Entity Total:		\$8,051.28
							Adjustment:		\$0.00
							Total Amount	:	\$8,051.28

# Davison

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$43.76	\$-43.76	0.70	\$-30.63
11/2022	4,083	14,823	527	19,433	\$24,291.25	\$506.85	\$23,784.40	0.70	\$16,649.08
12/2022	487	4	0	491	\$613.75	\$13.15	\$600.60	0.70	\$420.42
							Entity Tota Adjustmer Total Amo	nt:	\$17,038.87 \$0.00 \$17,038.87

# Day

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$3.48	\$-3.48	0.70	\$-2.44
11/2022	1,679	3,640	151	5,470	\$6,837.50	\$141.77	\$6,695.73	0.70	\$4,687.01
							Entity Tot	al:	\$4,684.57
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,684.57

### Deuel

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$0.03	\$-0.03	0.70	\$-0.02
11/2022	1,383	3,144	116	4,643	\$5,803.75	\$122.65	\$5,681.10	0.70	\$3,976.77
							Entity Tota	d:	\$3,976.75
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$3,976.75
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$1.21	\$-1.21	0.70	\$-0.85

11/2022	1,056	2,232	25	3,313	\$4,141.25	\$87.65	\$4,053.60	0.70	\$2,837.52
12/2022	49	0	0	49	\$61.25	\$1.23	\$60.02	0.70	\$42.01
							Entity Total:		\$2,878.68
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,878.68
Edmunds									

### E

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$3.28	\$-3.28	0.70	\$-2.30
11/2022	1,061	2,979	65	4,105	\$5,131.25	\$104.42	\$5,026.83	0.70	\$3,518.78
							Entity Tota	al:	\$3,516.48
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,516.48

# Fall River

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$0.40	\$-0.40	0.70	\$-0.28
11/2022	2,628	4,986	34	7,648	\$9,560.00	\$196.07	\$9,363.93	0.70	\$6,554.75
							Entity Tota	al:	\$6,554.47
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$6,554.47

# Faulk

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$0.13	\$-0.13	0.70	\$-0.09
11/2022	648	1,569	39	2,256	\$2,820.00	\$58.01	\$2,761.99	0.70	\$1,933.39
							Entity Tota	al:	\$1,933.30
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,933.30
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$13.28	\$-13.28	0.70	\$-9.30

11/2022	1,632	5,502	198	7,332	\$9,165.00	\$215.48	\$8,949.52	0.70	\$6,264.66
							Entity Tota	al:	\$6,255.36
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$6,255.36
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	1,452	3,606	7	5,065	\$6,331.25	\$138.27	\$6,192.98	0.70	\$4,335.09
							Entity Tota	al:	\$4,335.09
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$4,335.09
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	900	1,372	9	2,281	\$2,851.25	\$58.27	\$2,792.98	0.70	\$1,955.09
							Entity Tota	al:	\$1,955.09
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$1,955.09

# Hamlin

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$0.20	\$-0.20	0.70	\$-0.14
11/2022	1,318	4,080	70	5,468	\$6,835.00	\$140.13	\$6,694.87	0.70	\$4,686.41
							Entity Tota	al:	\$4,686.27
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,686.27

### Hand

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$11.70	\$-11.70	0.70	\$-8.19
11/2022	941	2,654	35	3,630	\$4,537.50	\$99.49	\$4,438.01	0.70	\$3,106.61

- Entity Total: \$3,098.42
- Adjustment: \$0.00

Total Amount:

\$3,098.42

# Hanson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$0.81	\$-0.81	0.70	\$-0.57
11/2022	720	3,212	70	4,002	\$5,002.50	\$112.38	\$4,890.12	0.70	\$3,423.08
12/2022	49	2	0	51	\$63.75	\$1.72	\$62.03	0.70	\$43.42
							Entity Tota	I:	\$3,465.93
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,465.93
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$0.03	\$-0.03	0.70	\$-0.02
11/2022	611	882	15	1,508	\$1,885.00	\$48.19	\$1,836.81	0.70	\$1,285.77

\$1,285.75
\$0.00
\$1,285.75

# Hughes

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$48.18	\$-48.18	0.70	\$-33.73
11/2022	530	3,168	174	3,872	\$4,840.00	\$134.69	\$4,705.31	0.70	\$3,293.72
12/2022	0	2	0	2	\$2.50	\$0.49	\$2.01	0.70	\$1.41
							Entity Tot	al:	\$3,261.40

Adjustment:	\$0.00
Total Amount:	\$3,261.40

# Hutchinson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	2,424	5,384	50	7,858	\$9,822.50	\$214.06	\$9,608.44	0.70	\$6,725.91
12/2022	1,049	0	0	1,049	\$1,311.25	\$26.19	\$1,285.06	0.70	\$899.54

Entity Total:

\$7,625.45

Hyde							Adjustmer Total Amo		\$0.00 \$7,625.45
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	573	1,081	14	1,668	\$2,085.00	\$42.59	\$2,042.41	0.70	\$1,429.69
							Entity Tota Adjustmer		\$1,429.69 \$0.00
Jackson							Total Amo	unt:	\$1,429.69

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	538	886	8	1,432	\$1,790.00	\$36.11	\$1,753.89	0.70	\$1,227.72
							Entity Tot	al:	\$1,227.72
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,227.72

### Jerauld

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	712	1,396	16	2,124	\$2,655.00	\$53.55	\$2,601.45	0.70	\$1,821.02
12/2022	140	0	0	140	\$175.00	\$3.50	\$171.50	0.70	\$120.05
							Entity Tota	l:	\$1,941.07
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,941.07
Jones									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	465	756	7	1,228	\$1,535.00	\$32.32	\$1,502.68	0.70	\$1,051.88
							Entity Tota	l:	\$1,051.88
							Adjustmen	t:	\$0.00

**Total Amount:** 

\$1,051.88

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$7.10	\$-7.10	0.70	\$-4.97
11/2022	969	4,200	111	5,280	\$6,600.00	\$154.20	\$6,445.80	0.70	\$4,512.06
							Entity Tota	ıl:	\$4,507.09
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$4,507.09
Laka									

#### Lake

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$23.38	\$-23.38	0.70	\$-16.37
11/2022	2,260	9,283	215	11,758	\$14,697.50	\$328.41	\$14,369.09	0.70	\$10,058.36
12/2022	0	4	0	4	\$5.00	\$0.97	\$4.03	0.70	\$2.82
							Entity Tota	al:	\$10,044.81
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$10,044.81

#### Lawrence

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$68.38	\$-68.38	0.70	\$-47.87
11/2022	6,257	18,875	376	25,508	\$31,885.00	\$670.54	\$31,214.46	0.70	\$21,850.12
12/2022	0	3	0	3	\$3.75	\$0.73	\$3.02	0.70	\$2.11
							Entity Tota	al:	\$21,804.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$21,804.36

### Lincoln

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$46.65	\$-46.65	0.70	\$-32.66
11/2022	3,952	25,610	2,240	31,802	\$39,752.50	\$901.42	\$38,851.08	0.70	\$27,195.76
12/2022	0	2	0	2	\$2.50	\$0.49	\$2.01	0.70	\$1.41
							Entity Tot	al:	\$27,164.51
							Adjustme	nt:	\$0.00

Total Amount: \$27,164.51

### Lyman

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$0.23	\$-0.23	0.70	\$-0.16
11/2022	980	1,868	393	3,241	\$4,051.25	\$86.35	\$3,964.90	0.70	\$2,775.43
							Entity Tota Adjustmer Total Amo	nt:	\$2,775.27 \$0.00 \$2,775.27
Marshall									

#### **Reporting Period Telecom Lines** Wireless Lines VOIP **Total Lines** Surcharge Admin Fee Net Surcharge Entity Entity Amount Lines Percent 11/2022 1,313 3,023 83 4,419 \$5,523.75 \$125.22 \$5,398.53 0.70 \$3,778.97 12/2022 \$0.73 \$2.11 0 3 3 0 \$3.75 \$3.02 0.70 Entity Total: \$3,781.08 Adjustment: \$0.00 **Total Amount:** \$3,781.08

# McCook

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$0.03	\$-0.03	0.70	\$-0.02
11/2022	1,626	4,346	32	6,004	\$7,505.00	\$154.47	\$7,350.53	0.70	\$5,145.37
							Entity Tota Adjustmer		\$5,145.35 \$0.00
							Total Amo	unt:	\$5,145.35

### McPherson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	847	1,557	11	2,415	\$3,018.75	\$71.61	\$2,947.14	0.70	\$2,063.00
							Entity Tota	al:	\$2,063.00
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$2,063.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$36.51	\$-36.51	0.70	\$-25.56
11/2022	2,748	19,604	195	22,547	\$28,183.75	\$602.27	\$27,581.48	0.70	\$19,307.04
12/2022	0	13	0	13	\$16.25	\$3.16	\$13.09	0.70	\$9.16
							Entity Tota Adjustmer Total Amo	nt:	\$19,290.64 \$0.00 \$19,290.64

### Mellette

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	517	760	6	1,283	\$1,603.75	\$32.34	\$1,571.41	0.70	\$1,099.99
							Entity Tota	ıl:	\$1,099.99
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,099.99

# Miner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	888	1,716	25	2,629	\$3,286.25	\$68.49	\$3,217.76	0.70	\$2,252.43
12/2022	43	0	0	43	\$53.75	\$1.08	\$52.67	0.70	\$36.87
							Entity Tot	al:	\$2,289.30
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,289.30

# Minnehaha

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$639.13	\$-639.13	0.70	\$-447.39
11/2022	34,040	160,586	8,801	203,427	\$254,283.75	\$5,511.14	\$248,772.61	0.70	\$174,140.83
12/2022	0	20	0	20	\$25.00	\$4.85	\$20.15	0.70	\$14.11
							Entity Tot	al:	\$173,707.55
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$173,707.55

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$4.27	\$-4.27	0.70	\$-2.99
11/2022	1,022	4,911	48	5,981	\$7,476.25	\$165.02	\$7,311.23	0.70	\$5,117.86
							Entity Tota Adjustmer		\$5,114.87 \$0.00
Poppington							Total Amo	unt:	\$5,114.87

### Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$284.85	\$-284.85	0.70	\$-199.40
11/2022	20,711	88,492	2,817	112,020	\$140,025.00	\$3,003.40	\$137,021.60	0.70	\$95,915.12
12/2022	0	28	0	28	\$35.00	\$6.80	\$28.20	0.70	\$19.74
							Entity Tota	al:	\$95,735.46
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$95,735.46

# Perkins

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	1,564	2,341	12	3,917	\$4,896.25	\$109.09	\$4,787.16	0.70	\$3,351.01
12/2022	0	5	0	5	\$6.25	\$1.21	\$5.04	0.70	\$3.53
							Entity Tota Adjustmen	t:	\$3,354.54 \$0.00
Potter							Total Amo	int:	\$3,354.54

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	960	1,983	15	2,958	\$3,697.50	\$74.56	\$3,622.94	0.70	\$2,536.06
12/2022	0	1	0	1	\$1.25	\$0.24	\$1.01	0.70	\$0.71
							Entity Tota	al:	\$2,536.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,536.77

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$0.58	\$-0.58	0.70	\$-0.41
11/2022	2,898	5,298	31	8,227	\$10,283.75	\$231.14	\$10,052.61	0.70	\$7,036.83
12/2022	0	1	0	1	\$1.25	\$0.24	\$1.01	0.70	\$0.71
							Entity Tota Adjustmer Total Amo	nt:	\$7,037.13 \$0.00 \$7,037.13

### Sanborn

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	693	1,852	17	2,562	\$3,202.50	\$64.96	\$3,137.54	0.70	\$2,196.28
12/2022	675	1	0	676	\$845.00	\$17.12	\$827.88	0.70	\$579.52
							Entity Tota Adjustmer		\$2,775.80 \$0.00
							Total Amo		\$2,775.80

# Spink

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$11.31	\$-11.31	0.70	\$-7.92
11/2022	1,533	4,662	104	6,299	\$7,873.75	\$161.90	\$7,711.85	0.70	\$5,398.30
							Entity Tot Adjustme Total Amo	nt:	\$5,390.38 \$0.00 \$5,390.38
Stanley									<i><b>4</b>0,000000</i>

#### **Reporting Period Telecom Lines** Wireless Lines VOIP **Total Lines** Surcharge Admin Fee Net Surcharge Entity Entity Amount Lines Percent 10/2022 \$0.00 \$12.18 \$-12.18 0.70 0 0 0 0 \$-8.53 75 11/2022 613 2,277 2,965 \$3,706.25 \$78.33 \$3,627.92 0.70 \$2,539.54 Entity Total: \$2,531.01 Adjustment: \$0.00 **Total Amount:** \$2,531.01

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$0.03	\$-0.03	0.70	\$-0.02
11/2022	535	1,239	5	1,779	\$2,223.75	\$44.56	\$2,179.19	0.70	\$1,525.43
							Entity Tota Adjustmer		\$1,525.41 \$0.00
Todd							Total Amo	unt:	\$1,525.41

# Todd

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	0	111	2	113	\$141.25	\$14.52	\$126.73	0.70	\$88.71
							Entity Tota	d:	\$88.71
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$88.71

# Tripp

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2022	2,002	4,109	37	6,148	\$7,685.00	\$159.91	\$7,525.09	0.70	\$5,267.56
							Entity Tota	l:	\$5,267.56
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,267.56

# Turner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$0.03	\$-0.03	0.70	\$-0.02
11/2022	1,747	6,630	89	8,466	\$10,582.50	\$216.57	\$10,365.93	0.70	\$7,256.15
							Entity Tota	ıl:	\$7,256.13
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$7,256.13
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$15.50	\$-15.50	0.70	\$-10.85

11/2022	2,230	11,565	730	14,525	\$18,156.25	\$450.89	\$17,705.36	0.70	\$12,393.75
							Entity Total:		\$12,382.90
							Adjustment:		\$0.00
							Total Amount:		\$12,382.90
Markey and h									

# Walworth

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$0.28	\$-0.28	0.70	\$-0.20
11/2022	1,594	3,664	410	5,668	\$7,085.00	\$145.45	\$6,939.55	0.70	\$4,857.69
12/2022	0	2	0	2	\$2.50	\$0.49	\$2.01	0.70	\$1.41
							5	Entity Total:	
							Adjustment:		\$0.00
							Total Amo	Total Amount:	

# Yankton

Reporting Per	riod Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2022	0	0	0	0	\$0.00	\$58.74	\$-58.74	0.70	\$-41.12
11/2022	4,163	17,262	485	21,910	\$27,387.50	\$583.52	\$26,803.98	0.70	\$18,762.79
12/2022	0	1	0	1	\$1.25	\$0.24	\$1.01	0.70	\$0.71
							Entity Total: Adjustment:		\$18,722.38 \$0.00
							Total Ame		\$18,722.38
TOTALS	177,632	647,174	27,097	851,903	\$1,064,878.75	\$24,747.18	\$1,040,131.57		